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HMETY A
GENERAL KNOWLEDGE
AR deT 8 % wfex fopm et o ffifa 2 2

(A) TR (B) B (C) I (D) SR H & s &l
In which style are the temples of Bhubaneshwar and Puri built ?
(A) Nagara (B) Dravidian (C) Vesara (D) None of the above

= @ e feu w2, T | T 1 AR (A) TUT G 1 HRU (R) HE TR
ATTERYA (A) : Tl ST T3S, &@aﬁmwm@mﬁﬁqﬁﬁwﬁ%wmﬁ@m
&A1 (R) : R, ATk 3R Tea U= STt Ieaan U aret T.aTE. | ¥ 2 997 WRa 1 YewH
JTUETHA ATad & |

i fou e e & @ wE I g

&R

(A) (A) 3R (R)aﬁw% 3R (R), (A) I & TSI HLT &

(B) (A) 3 (R) &I & &, T (R), (A) I Hel SAEAT Tal Ll

() (A) T 8, Wg (R) 39 &

(D) (A) 318 8, W (R) T 8

Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).
Assertion (A) : Global India Al Summit was recently held at Bharat Mandapam in New Delhi.
Reason (R) : Singapore, Denmark and United States of America are among the highest rated Al and
India’s performance is relatively strong.

Select the correct answer from the code given below :

Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(C) (A)is true, but (R) is false

(D) (A) is false, but (R) is true

20247 TH.E1.U. GRI FAIHICA HH-H T3 gal, ealsi I i WIfd S &fiur o & fore Afeass o
TfeTae Wi I AId il & ?
(A) TgHIIHE (B) g (C) THThTITIR (D) iehrst

Which new drug, approved by the FDA in 2024, targets amyloid plaque in the brain to slow the progression
of Alzheimer’s disease ?

(A) Aducanumab (B) Kisunla (C) Lenacapavir (D) Legambi

fope =T TR 7 <t TR B TS ATAT-TETEr & gt fe 2

(A) IT e (B) BYETE (C) WemTSg (D) WA e

Which State Government gave status of ‘Rajya Mata — Gomata’ to indigenous cow ?

(A) Uttar Pradesh (B) Chhattisgarh (C) Maharashtra (D) Madhya Pradesh
fdeH faferadam Sfuemfim 2024 smfSa i T8

(A) fere & (B) 7&TH H (C) graig | (D) @t #

Asian Billiards Championship 2024 was organised in

(A) Riyadh (B) Tehran (C) Mumbai (D) Dhaka
frefafaa o @ #F w98 ga1 fova ot o fosar @ 2

(A) A=t =t (B) TJ WL (C) | HegH (D) T[hET ST
Who among the following is Youngest World Chess Champion ?

(A) Nancy Tyagi (B) Manu Bhaker (C) Sanjay Malhotra (D) Gukesh Dommaraju
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10.

11.

12.

FrfaRad o & SF-81 g § TAfhes S 9Ug *i iy T8 2 7

(A) &R (B) Ta&ToT () wifeca aefien D EEESIET]
Which of the following is not a method of primary data collection in research ?
(A) Interviews (B) Surveys (C) Literature review (D) Observations
Toreror & s fafy 61 S foRd T ST B ¢
(A) S Feft B) faferm &€ fererifes
(C) 9. FAwrEgi (D) Gehtrd
Who is considered to be the originator of the project method in teaching ?
(A) John Dewey (B) William Heard Kilpatrick
(C) Prof. Armstrong (D) Socrates
e 3Aiehel o Teshalehtur i faftmt 3
a. g IrereA fafy
b. ST JeTae fafy
c. 3TATE &
d. STEET
= feu T fashedt # @ wd I g
(A) ®ad b, ¢, d (B) had a, b, d (C) %ad a, ¢, d (D) %had a, b, ¢

Methods of collection of primary data are
a. Case study method
b. Mail questionnaire method
c. Online resources

d. Schedule
Choose the correct answer from the options given below :
(A) Onlyb,c,d (B) Only a, b, d (C) Only a,c,d (D) Only a,b,c

Freafafea § @ -1 W&o § yrEdTeHe Jodre i foRivar T8 8 7

(A) TrEa § gur @ foTe gaa gfdfsean gem

(B) UTSIShH o 37d H US YeH i o o3 A foham S &

(C) BT =l 3ehI ATehd I AT hl Te=H § Heg Hidl &

(D) WIf¥1eTehi ! FUR i JTE9Ihal dTel &3 < IR H Fad il @

Which of the following is not a characteristic of formative assessment in teaching ?
(A) Provides ongoing feedback to improve learning

(B) Conducted at the end of a course to assign grades

(C) Helps students to identify their strengths and weakness
(D) Informs instructors about areas needing improvements

Frefafad # & HA-5 iy S fafa 728 2 ¢

(A) erifren (B) Ufgriérh (C) T (D) AR
Which of the following is not a method of research ?

(A) Philosophical (B) Historical (C) Survey (D) Observation
frfafaa 8 @ #9-a1 srenfegs TEIwoT %1 TR TE § 7

(A) aoft Tehd (B) Terfaa Tesmyor

(C) T8 TFIh (D) T3 Trash

Which of the following is not a type of non-verbal communication ?

(A) Voice signal (B) Written communication

(C) Eye contact (D) Tactile contact
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13.

14.

15.

16.

17.

18.

19.

20.

frefafaa o & form Twem 3 9 2005 # - AT EaTd A 7

(A) 3TE.318. 8. HER (B) Efew it it wa fergafermer

(C) saTgTeTe favafaeme™ (D) feeett favafaame

Which of the following institutions launched e-Gyankosh in the year 2005 ?

(A) NIIT Kanpur (B) Indira Gandhi National Open University
(C) Allahabad University (D) Delhi University

TS ATG-ThT3 b1 ITANT Thid THI, LT TG h foTU, IV STATH R 8 ?
(A) Tom fopelt wfcag o EeRial @l as uge
(B) 3194 HIadM ! Tshe ohid o fore Y. . TH. 1 IuT ot

(C) Tt TRaT TS 3787H i

(D) T % |1 AT ol AT

When using public Wi-Fi, what is a recommended practice to enhance security ?

(A) Access sensitive account without any restriction

(B) Use a VPN to encrypt your connection

(C) Disable all security settings
(D) Share your connection with others

Jeateh ® . d.ud. o A R ?

(A) T Mg eaTh (B) S3Tet UfeeTh Teash

(C) dftusa yrgde Jeah (D) IftwTSE WTgae Heaeh

What does ‘VPN’ stand for in networking ?

(A) Virtual Private Network (B) Virtual Public Network

(C) Variable Private Network (D) Verified Private Network

WRA H ISl e il e uiid g3 ?

(A) 19727 (B) 1968 T (C) 1980 (D) 1986 #
When was the Wildlife Protection Act passed in India ?

(A) 1972 (B) 1968 (C) 1980 (D) 1986
frefafaa o @ - 19 Mg g & Sed @ 2

(A) HET SEAGAES  (B) HIa HHISTFRES  (C) HiAA (D) TT8eH ATFATES
Which of the following gases does not cause greenhouse effect ?

(A) Carbon dioxide (B) Carbon monoxide (C) Methane (D) Nitrous oxide

qHEA | MR i S sedl Jgar & Feffaa dwfaa yame 2, % st
(A) CO,BIEATEHIH (B) TSt ATTHT (C) 3TFTH & (D) Safafaear & gfg

The increasing abundance of greenhouse gases in the atmosphere has the following possible affects, except

(A) CO, fertilization (B) Global warming (C) Ozone depletion (D) Increase in biodiversity
frefefad & @ SHH-T1 T WA H1 FEH TEOME 7 7

(A) I (B) 91§ (C) qreg (D) TS

Which one of the following is an artificial port of India ?

(A) Cochin (B) Chennai (C) Mumbai (D) Kandla

INd & fohd T § wad 31fres STeTge 1 3cuTe BidT @ 7

(A) 3TEE (B) ik (C) ifean (D) BitETg

Which State of India is the largest producer of Bauxite ?

(A) Jharkhand (B) Karnataka (C) Odisha (D) Chhattisgarh
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21.

22.

23.

24.

fid g | AT § B dTeft 99T T JhR F 17 7

(A) T (B) Wfd =shaTd ™ (C) "It (D) =haT
What is the type of rainfall that occurs in Tamil Nadu during winter season ?

(A) Mountainous (B) Anti cyclonic (C) Convectional (D) Cyclonic
‘SATeH T <t T foRe i ?

REICIREEEIEE (B) TS TH Higd T

(C) T&THt g T&ard! (D) TEN i <d

Who founded the ‘Atmiya Sabha’ ?

(A) Swami Vivekananda (B) Raja Ram Mohan Roy

(C) Swami Dayananda Saraswati (D) Radha Kant Dev

frafafea § & fh8 1938 § FHIY =5 S19 o AT ¢ o I9ATd WRAT TS Hidd 1 e A1
T ?
(A) TEAVHTS T (B) ST EE (C) T sEe (D) Sf. Telg JETe

Who among the following was elected as President of the Indian National Congress after Subhash Chandra
Bose resigned in 1938 ?

(A) Vallabhbhai Patel (B) Jawaharlal Nehru  (C) Annie Besant (D) Dr. Rajendra Prasad
T 1B g — 113w gk B qe g % A R e g § @ wd s g
T - gt -1l
(Srardieh) (3ATEE)
a. 9T TR Tt . Ree®d 3Tgrer
b. SMeha ITef Il. 1857 fagre
c. TETeT Treft IIl. TEesf 3Teie (1905 | 1907)
d. SETg 28 IV. JTEEAN JTGeH
ETE
a b c d
(A v Il I
B) | 1] v
(C) I v Il
(D) 1 v I
Match List — | with List — Il and select the correct answer from the code given below the lists :
List -1 List-1I
(Originator) (Movement)
a. Bal Gangadhar Tilak [. Khilafat Movement
b. Shaukat Ali II. 1857 Revolt
c. Mahatma Gandhi Ill. Swadeshi Movement (1905 to 1907)
d. Bahadur Shah IV. Non-Cooperation Movement
Code :
a b c d
(A moov Il I
B) | 1] v
(C) I v Il
(D) v I



25.

26.

27.

TS TR % 91 H frafafgd § @ eR-m st g B 7
(A) I8 U wurf e & T foafea =& foman <1 gepar |
(B) sEeh! T wemmsft gry &t ot @ |

(C) 39 UTE Ieiear] ! A =NfNd i o1 HABHR B |
(D) I8 el TG A o S FTlerd BT @ |

Which of the following statements about the Election Commission is true ?
(A) ltis a permanent body that can not be dissolved.

(B) It is appointed by the Prime Minister.

(C) It has the authority to disqualify the candidates.

(D) It only operates during election period.

GO I SaeT ¥

(A) rfTfereRT, faremfenT & uft SReRh 2
(B) Tarenfrerr, shriurietent & wfd STeerh @
(C) =muttereht, faenfent & ufa ARt @
(D) SFRITTIARI, =TI o W ITER &

In Parliamentary form of Government

(A) Executive is responsible to legislature
(B) Legislature is responsible to executive
(C) Judiciary is responsible to legislature
(D) Executive is responsible to judiciary

HYe o fhT Hed o Hetal U Tdehad HHId Tdd shl Sl & 7
a. Al I
b. TSI 941
c. Tl Tl o He&i §
d. Tsgufd gRT A deEt
= feu o foaespedt § @ @& 3w g -
(A) A a (B) at a 3 b
(C) e d (D) ¥ a, b 3R d
The Estimates Committee is constituted from the members of which House of Parliament ?
a. Lok Sabha
b. Rajya Sabha
c. From members of both Houses
d. From members nominated by the President
Choose the correct answer from the options given below :
(A) Only a (B) Onlyaandb
(C) Onlyd (D) Onlya,bandd



28.

29.

30.

T — | 1 T — |1 T AT hiTT qe Fii < el T 70 e H & FEl W T ¢
T - |

A -1l
a. Tey fony . g deY 3% J9H
b. UTHY HIeUH Il g R 31f% gt My
c. ST, AE . SFANIISH WE FATsdadd SaTIHe
d. FHR A IV. T 374 ¢ Tifed 31i® aiegeree
&R
a b c d
(A) 1l I v I
B) I v I I
(O 1 Il v
(D) | v 0l Il
Match List — I with List — Il and select the correct answer from the code given below the lists :
List -1 List—1lI
a. Adam Smith I. The Wealth of Nations
b. Thomas Malthus Il. The Theory of Economic Growth
c. W.A. Lewis lll.  Imperialism and Unequal Development
d. Samir Amin IV. Essay on the Principles of Population
Code :
a b c d
(A) 1l 1] v I
B) I v I 1]
(C) |1 11 Il v
(D) | v 01l Il

Hd I91¢ 2025 — 26 fopT T=T H ‘HE@MT SIS’ i MSd A o1 TEard feam man @ 2

(A) ST 3T R (B) forem
(C) 3T e (D) 3TTY ew
In Union Budget 2025 — 26, ‘Makhana Board’ is proposed to be set up in the State of
(A) Jammu and Kashmir (B) Bihar
(C) Uttar Pradesh (D) Andhra Pradesh
AT T 2025 — 26 H HUTE HT T&E IST I hal & T I A 8 7
(A) FATEH F (B) oq Td Hall
(C) 3™ T (D) hEeHd St
In Union Budget 2025 — 26, the largest source of earning is estimated to come from
(A) Excise Duty (B) Goods and Services Tax
(C) Income Tax (D) Customs Duty
-7-

43



31.

32.

33.

34.

35.

Jreivme

ECONOMICS
I A 1 3T fopd & T ITeH & ToIu Tieet [EhR SgM feRm R o ¢
(A) Ireffufa BREEIEEECENIE=]
(C) Tifger 3refmen (D) THeATIT 3T
Amartya Sen was awarded the Nobel Prize for his contribution in the field of
(A) Econometrics (B) Developmental Economics
(C) Monetary Economics (D) Welfare Economics
Ut TR § ASig SUe Bl 8
(A) "= 3T &+ (B) 3T wifdes IcdTeehd &
(C) HT= IcdTeehdl o Ued (D) SHferepiuTel TR &+
Wages are equal in perfect competition
(A) By marginal revenue (B) By average physical productivity
(C) By value of marginal productivity (D) By subsistence level
I8 Tomg &1 o1 3T @1 $d ANTd @1 ! Afdesied ALl &, Heamd o
(A) Tawrss fag (B) Hig fag
(C) wH-fereg forg (D) Fqe femg
The point where the total revenue line crosses the total cost line is called
(A) Split off point (B) Point of inflection
(C) Break-even point (D) Equilibrium point

af % fem 1 g @@= g o7

(A) 3T ufEfdd w&di 8 (B) Traf-¥rd aegal i md § Sead Bl 8

(C) U1 gfaensni ¥ uigd giar @ (D) TTE 3N ARMMT | seeta 8idT &

What are the assumptions of Law of Demand ?

(A) Income remains unchanged (B) Price of related goods is changed

(C) Changes in credit facilities (D) A change in taste and preferences

X-axis % HHTR &fest qi1 W@ guidt 8 6 afn & 9= 2

(A) = (B) 3= (C) THTS o TR (D) 3HTS | 3feeh

The horizontal demand curve parallel to X-axis implies that the elasticity of demand is

(A) Zero (B) Infinite (C) Equal to one (D) Greater than one
-8- 43



36.

37.

38.

39.

40.

Fl 3G AU BTl & o

(A) HiuTd IcaTe 3Aferehad &rdm 8

(B) 3fiaa 3euted 3tferehad T 2

(C) HHT=I IcuTe YA el @

(D) 3fEd 3cured, HiHTd IcdTe & SUeR BidT &
Total production is maximum when

(A) Marginal production is maximum

(B) Average production is maximum

(C) Marginal production is zero
(D) Average production is equal to marginal production

T QUi SR SR § T BH 3cA1E o T W SrEehid H SR &dt @ S

(A) AC=MC (B) AR=MR

(C) MR=MC (D) P=AR=MR=AC=MC

In a perfectly competitive market, a firm in the long run operates at the level of output where
(A) AC=MC (B) AR=MR

(C) MR=MC (D) P=AR=MR=AC=MC

HE T USHTR 941 311 1 forgra forg g 1 SUsrm) o1 fargermor a8 star 8 7
(A) Ufs® (B) If=sh (C) T=5+ (D) ET=FTHS

What type of unemployment has not been analysed by Keynes Employment and Income theory ?
(A) Voluntary (B) Involuntary (C) Disguised (D) Structural

e Hehel IS I B AT 7, 1 USET 3T 6l I B H i Tehal & 7

(A) qLAdT ST (B) 39N (C) =S U (D) TUTeh

When gross investment becomes zero, then what prevents National Income to be zero ?

(A) Liquidity trap (B) Consumption (C) Interest rate (D) Multiplier

3a 3UAM S et ot T8 & Fehdl

(A) THNTCHH (B) ¥ (C) T ¥ 3ferh (D) T H &Y

Average propensity to consume can never be

(A) Positive (B) Zero (C) More than one (D) Less than one
-0-
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41.

42.

43.

44.

frafafiga v 4 @ v, . 9% & fqu F-TmEd @ 2
(A) g1 i | qerm ggT i Sfd o me

(B) HgT <h! T qAT AT X o HEA

(C) 3™ AT &S T o HEA

(D) HgT <t 3T qAT AT X o Hed

Which of the following relationship is correct for the LM curve ?
(A) Between demand for money and supply of money

(B) Between demand for money and the rate of interest

(C) Between income and the rate of interest

(D) Between supply of money and the rate of interest

Topfere ash forren st Trerry =39 staT @ 7

(A) TSFTR iEe &t qe aTfaeh Joigdl &t H qie
(B) USRI G 3 Aok ASIG &t # e

(C) SRISTIY §X 3R Hifgsh ASiG &t # wiad

(D) SRISRTHY &R 3R Hifgsh ASigl

Phillips curve is a relation between

(A) Rate of change of employment and rate of change of real wages
(B) Rate of unemployment and rate of change of real wages

(C) Rate of unemployment and rate of change of money wages

(D) Level of unemployment and money wages

Teh UehTTerehit YT st Tehal 2

(A) hma (B) 391G

(C) 41 1 hiHd 31 1 3T (D) 39+ | & HIE &l

A monopolist can determines

(A) Price (B) Output

(C) Either price or output (D) None of the above

FHiHeA faga o SER s Iama=m, T qierd < IO Bid 8 |

(A) fafrem & e d (B) ot ferfrm #

() fafem & (D) Tafg il anfiee g H

As per Keynesian theory, economic fluctuations are due to change in

(A) Rate of investment (B) Autonomous investment

(C) Disinvestment (D) Warranted rate of growth
-10-
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45.

46.

47.

48.

49.

frferfaa & & form srefamedt o 31ER, 31gwa USRI, s=q wd doft fmfor 1 &ia 2 et 8 7
(A) IR, T (B) . TH. % (ORI (D) fafir

According to which one of the following Economists, disguised unemployment can be a source of saving

and capital formation ?
(A) R. Nurkse (B) C.H.Fei (C) Marx (D) Higgins

frafafea & & F-a1 Tt =1 s §g s e 2 7
(A) TETET T (B) frerm = (C) T&T T T (D) e @t

A multidimensional measure of poverty includes which of the following ?
(A) Health level (B) Education level (C) Standard of living (D) All of the above

foreht a1efezeeen # fAmfeiflad O & i deichl 3189 U9 FE=IK & R0 30~ Bidl & 7

(A) wrEE STSETRY (B) TshI TSR

(C) T=FATCHS SUSTTIRY (D) =B~ ST

Which of the following arises due to technological advancement and innovation in an economy ?
(A) Seasonal unemployment (B) Cyclical unemployment

(C) Structural unemployment (D) Disguised unemployment

frferfga & @ fordr fiet gra 31 faeema fagra o =g wom fear mn 2 2

(A) ISht famior (B) TTHII 61 ftreht
(C) T=gfeid Egfg i TTawaehdl (D) TasEcH i et
Which of the following was given a central place by Schumpeter in his theory of development ?
(A) Capital formation (B) Role of governments
(C) Need of balanced growth (D) Role of innovation
Tt % gYEsh ol STEURT HrSld @
(A) Threaam @ (B) IfieT &
(C) TR 8 | (D) TR fitgat @
The concept of vicious circle of poverty is associated with
(A) Kindleberger (B) Schumpeter
(C) Ragnar Nurkse (D) Gunnar Myrdal
-11- 43



50.

51.

52.

53.

54.

HIE G ST 1 39T 2

(A) T T § HH HET (B) o hT T H T AT TS T H HHT HEAT
(C) Tl = ST (D) Tsft 3w e foesr | et SRt

The Keynesian remedy for unemployment is to

(A) Decrease aggregate demand (B) Reduce tax rate or lower interest rate
(C) Increase government spending (D) Decrease private consumption and investment
R =36 1 ad fowg Tafad grar 2

(A) foeam @ (B) a5t @ (C) I™m ¥ (D) T4 &

The lowest point in the business cycle is referred to as the

(A) Expansion (B) Boom (C) Peak (D) Trough

Y@ ed JEERR fosidT 3l 89 | T Fahich (dehfad feham St 2 |

(A) T SFqTe gkt (B) T BT

(C) Tehar TIs MfRaT FEhh (D) 3T STHIMAT 3T~ YIAhTh

Amartya Sen noted Nobel Laureate, has developed an Index known as

(A) Poverty Gap Index (B) Sen Index

(C) Squared Poverty Gap Index (D) Income disparity Gap Index

ferepftra et o Hafg 1 wed Y@ % At B

(A) Th-Tehl Tl (B) B shifd

(C) Usft T== (D) SEE e
Main factor in growth of developed nations is

(A) Technological advancement (B) Green revolution
(C) Accumulation of capital (D) Population control

34 Tied I TEAH HIC A Tl I Fge’ | TEld @
(A) ISR ATSA (TTET) (B) T4 Tferoe Hige (WTET)
(C) g ATea (TTEY) (D) S TigA (TTEW)

Identify the model, which is concerned with the ‘Golden Age Equilibrium’.
(A) Kaldor model (B) John Robinson model

(C) Keynesian model (D) Domar model
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55.

56.

57.

58.

59.

freferfiga & & TR ge T Fred TrEReE B 7

(A) 3T YT 3TN (B) 3™ g5+

(C) 3T YT (D) FETITfcrh <Rt
Robbin Hood effect is related to which of the following ?

(A) Income and consumption (B) Income generation
(C) Income redistribution (D) Proportionate tax

Tegferd faerma & fagra & sredfasfia =1 wefies wrw 8

(A) STSIR o1 o7 /Hfa 3R (B) sr=rdi § Y

(C) o= T &t aeteht (D) Toreeft T=n/wvma

In the theory of balance growth, basic cause of underdevelopment is

(A) Size of market small/limited (B) Low savings

(C) Poor level of technology (D) Foreign dominance/Rule
Inifes Tgfg 1 7T ST HehdT B

(A) UM Yo FhTh o g (B) 1% Yo HhIH o GHI
(C) Hha1 T 37UTG < g (D) HmT=a 3ud sgfd & g
Economic growth can be measured by

(A) The C.P.I. (B) The W.P.I.

(C) G.D.P. (D) M.P.C.

frefefaa & @ form dfgat (yrEw) it A= R Sq-319 399E 2 7

(A) HICER Higd (TEH) (B) ferdi® Afsd (IT&ET)

(C) BUS-8 HigaA (ITET) (D) S e Ase (T
Which of the following models makes the assumption of constant saving income ratio ?
(A) Kaldor model (B) Leonteif model

(C) Harrod-Domar model (D) John Robinson model

Ffaiad § § S-S 3 ARt & fag @ 2

(A) arforfsaes S (B) i S

(C) (A) 3R (B) T (D) Sk § & rE TE

Which one of the following is the Bank for the public ?

(A) Commercial Bank (B) Central Bank

(C) Both (A) and (B) (D) None of the above
-13-



60.

61.

62.

63.

64.

YR Fiod S 3Tl T AT Sl ol T8 &I T 3UR <l § 98 el &
(A) % & (B) W & (C) Tae W &t (D) =TS &

Reserve Bank of India facilitates short term loan to Commercial Banks at interest is called

(A) Bank rate (B) Repo rate (C) Reverse repo rate (D) Interest rate

Ik HTY Rl @

(A) T % IUNRT W ITE H (B) U 31 1 Heffg e ol

(C) 3UHNT & THaer W qura (D) STUTEY IcATEH oh IUMIT T U hi
Accelerator measures

(A) Effect on consumption to investment (B) Growth rate of national income

(C) Effect on investment to consumption (D) Effect on consumption to short term production

fretferfea 5 @ -1 Th i s 1 HE T B 7

(A) T TR T TR (B) STt &= T Ty

(C) TR KT T Jae (D) faresht fafrmar wuer 1 yarem
Which of the following is not a function of Central Bank ?

(A) Monopoly of note issue (B) Control on black money

(C) Managing government debt (D) Managing foreign exchange reserve
erehifa Sfa T=¢l Teh T &

(A) 3= FTAERITT 3R = USRI (B) 3=a HEEhifd 3R = ST <t
(C) I=a Hgrehifa 37X 3= SUSHTRY (D) 39 | o I3 Tl

Stagflation is the combination of

(A) High deflation and low unemployment (B) High inflation and low unemployment
(C) High inflation and high unemployment (D) None of the above

HET T T Yo TR Y51 1 Jod Hal I § ?
Which value of money is known as value of a reserved money ?

(A) M (B) M, (C) M, (D) Mz
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65.

66.

67.

68.

69.

0 U I Teh fova o Hi1ad 1 W T8 8 7

(A) ST gaT iy (B) 3TE.S.HAR &L

(C) IR .E.u. (D) 3TE.U%.H.

Which one is not a part of World Bank Organisation ?

(A) IMF (B) IBRD

(C) IDA (D) IFC

Ffe g 1 wim faen deer 8, af fefafad § @ S5 S 981 s 7

(A) et fershar (B) et shal

(C) shal aT fershar QI Tk THI (D) Tershar, shat sl 3TUeTT 3Tfres YR a8 T

Who among the following will bear the incidence of taxation if the demand of a commodity is
perfectly elastic ?

(A) The seller only (B) The buyer only
(C) The seller and the buyer both equally (D) The seller will bear more than the buyer

Ife TR L YR gRT FHY T &1 S&HT e 8, a1 98 T Hehd! 8

(A) Sdl 2] IS B ST Wt § (B) FrRw WHw T AR
(C) 3Tcae U H gfg (D) 3T T hl HH AT

If the government wishes to increase aggregate demand by tax measures, it could
(A) Cut children allowances (B) Tax travel abroad

(C) Increase indirect taxes (D) Reduce income tax

SARrehdq TN o 1 fagra fere wearfua feman 2

(A) B STeed (ST, Bleed) (B) Ten feyy

(C) %! TR (D) T 3R 8
Who has introduced the principle of maximum social advantage ?

(A) Hugh Dalton (Dr. Dalton) (B) Adam Smith
(C) Franco Modigliani (D) Sir Arthur Lewis

TS = 3R Toiea Iifeeai o o= hl 311 2

(A) TS °1eT (B) TSIhIY =TT
(C) &Ie =Tl (D) TTfHeh ©TeT
The difference between Revenue expenditure and Revenue receipts is
(A) Revenue deficit (B) Fiscal deficit
(C) Budget deficit (D) Primary deficit
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70.

71.

72.

73.

74.

Ife Hd sgdt &, a1 Gresii-es /0T T Tl dRd e YR

(A) fram (B) s (C) Iruftafda wm (D) AffTaa g
If prices increases, direct real burden of public debt will
(A) Fall (B) Rise (C) Unchange (D) Uncertain

BT TR o1 STfeAaE] T ] YU USdT § 7

(A) ToGH | g (B) U H it

(C) Ha1 mafd # et (D) T3 st & g

What is the effect of deficit financing on economy ?

(A) Increase in wages (B) Reduction in taxes

(C) Decrease in money supply (D) Increase in money supply
Ifg Wi 1 3T A= AT &, @

(A) U T 1 §gT & MY (B) T &l i =T ¢ =1eq
(C) H &l T =Mfey (D) IU H H i &l

If income elasticity of demand is more, then

(A) Increase the tax rates (B) Decrease the tax rates
(C) No taxation (D) None of the above

BT o ol § fope & /& T Rd Y T 3T o ArTeH | stk gfg gg R v

(A) forgeft =amR (B) T 3cuTeA &

(C) Hell & (D) ¥ &

In the recent years in which area/sector contribution of National Income in India increased largely ?
(A) Foreign Trade (B) Manufacturing Sector
(C) Service Sector (D) Agriculture Sector
TeIeeh Hifd FEEfd 8

(A) Feia = (B) 3T L &

(C) €T 3k | (D) 3ua ot 9

Tariff policy is related to

(A) Export Tax (B) Import Tax

(C) Custom Duty (D) All of the above
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75.  FAUSEE ST H Qe USreel h 3evd BT 8

76.

77.

78.

(A) Teresht fafoma & siftgm el e
B) foesft fafma & Sifem =t gefera e
(€) faesft fafrar § weearsht we

(D) Fereeft fafrmm & s fpamd

The objective of Forestalling in International payment is

(A) To accept Foreign Exchange risks
(B) To protect Foreign Exchange risks
(C) Speculative in Foreign Exchange

(D) Transfer activities of Foreign Exchange

uftgd-a fafm gt 6t e & stearid, YaH Sqa 8 SEReH foRm ST 2

(A) 3T ¥ qiEdd & gr
(C) Ued TR T qiEd o g

(B) fafa <t & qftads & g
(D) 93 Td ™ H ufadd & g

Under the flexible exchange rate system, adjustment of Balance of Payment is done

(A) By changes in income

(C) By changes in price level

HI-HT TN FI TR T2 2 ?
(A) 3c9TE Yesh

(C) 3

Which is not way of protectionism ?

(A) Excise Duty
(C) Quotas

ferval SATUR |TSA o qrel <k H i qgal Tl
(A) Terprasiiar <ot & Tt

(C) T3 § STIR

In WTO Doha round the main issue was

(A) Exports from Developing Nations

(C) Trade in services

-17-

(B) By changes in exchange rates

(D) By changes in price and income

(B) RIceh
(D) fafm frezor

(B) Tariff
(D) Exchange control

(B) N & Fraf-ud 4gg
(D) SAMR ¥ Traf-d sifgeh Trver JRR

(B) Issues related to agriculture

(D) Trade related Intellectual Property Right
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79.

80.

81.

82.

e faerm fae 1 gehmsEeRal 8

(A) Torea sfep (B) F=AUSR T N

(C) wgad Trsg faeprd wishy (D) HYFd TS =S ST HATITAIA hIY
Human Development Report is published by

(A) World Bank (B) IMF

(C) UNDP (D) UNICEF

R § ggrehifa < o o foe fafer s s fomem Sman 2 2
(A) ST Yo G

(B) @k Tl i

(C) frem w1 3TTeet gaehish

(D) &M i e A9 AT T YhTh

Which method is used for calculating Inflation in India ?
(A) Consumer Price Index

(B) Wholesale Price Index

(C) Fisher’s Ideal Index

(D) Cost of Living Index of Wages

ST ShTTd ohT Graey fohEehl Teem & 8 ?

(A) AT (B) TS (C) T (D) 3T
The purple revolution is associated with the cultivation of

(A) Lavender (B) Rose (C) Almond (D) Walnut
SISTR e T GG T 391G &

(A) TSR Hod T Hehel TS IcUTG — =0T YT

(B) SR Hod W Tehdl TS IcUTE — focell & ITed 3§ 3™
(C) ISR oI W Hehel TS IcUTG — TERAATE

(D) IR oI W Hehed TS 3UTG - B

The Net National Product at market price is

(A) Gross National Product at market price — Transfer payments

(B) Gross National Product at market price — Net income from abroad
(C) Gross National Product at market price — Subsidies

(D) Gross National Product at market price — Depreciation
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83. Trfetfigd wrat & @ ferwd, Tmm=ra: foret o1 gRT StereeA i fifd <l ST9ARN ST 7 7

A) st.3n.d. ¥ arer B) sfi.3n. 9. 4 i

(C) St SIS €T (D) <31 # Thifaes eemd

In which of the following conditions, the policy of devaluation is generally applied by a country ?
(A) Deficitin BOP (B) Surplus in BOP

(C) Higher unemployment rate (D) Inflationary conditions in the country

84. VR T -0 | 1 # ¥ - Ag IS Wifed o &9 § rffehd & 7
(A) 3T T T UL Tfed
(B) TRhR gRT 319 T § ITed 3R
(C) TTESI{eh IUShAT | ITed o1 Te ATHIST
(D) TR g KO3 & 1d =t
Which of the following items is classified as a capital receipt in the Budget for Govt. of India ?
(A) Receipt from Income Tax (collection)
(B) The borrowing made by the government from the public

(C) The dividends and profits received from public sector units
(D) The interest receipts for loans given by Govt. to its debtors

85. WA § Y H JUTTHI o1 W& 2
1. HYUTTcH
2. At
3. ThiA
4. T

= feu U e 1 W Hh TR IH G |
&R
(A) 1,23 3 (B) 1,2,33MW 4 (C) 13 3 (D) 2 3 4
Nature of unemployment in agriculture in India is
1. Frictional
2. Seasonal
3. Cyclical
4. Disguised
Select the correct answer using code given below.
Code :
(A) 1,2and 3 (B) 1,2,3and 4 (C) tand 3 (D) 2and 4
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86.

87.

88.

89.

90.

fopeh! et w1 Fria fepan ST 2 7

(A) TS [T o = & AT R (B) YfeR /iR
(C) TThHI HHEART (D) GHMER Wl

To whom the yellow card is issued ?

(A) People below the poverty line (B) To landlords

(C) To government employee (D) To shopkeeper

9. 21.37E. T, 2020 SFTER, 99 2019 H YRA 1 WM fohrd F@ehieh o1

As per HDI Report 2020, value of Human Development Index for India in 2019 was

(A) 0.7646 (B) 0.6451 (C) 0.6778 (D) 0.5556

Ffe vqu i Had a0 F 2o 8 @ 7, 3N GHR gR ST GHeh 31 @ g, d e S 3% sfea
TS € Gehdl &

(A) sTord w1 Teresht fafm sTom & fasha =1 (B) ST & hd I
(C) g1 sl Afaier B (D) 3TITd T I3[ Sl TG H

If Rupee is getting depreciated fast and considered undesirable by the Govt., then RBI may be advised to

(A) Sell dollars in Foreign exchange market (B) Purchase dollars

(C) Print more currency notes (D) Raise tariffs on imports
ITAH T | 916 @Td 8 T 8

(A) 9% T FEIAT T IR (B) %] T Tt w1 ftd

(C) I%q T |3t 1 3TRTG vt g (D) 39 | § s T

In the Balance of Payment Current Account deals with
(A) Import of goods and services (B) Export of goods and services

(C) Both export and import of goods and services (D) None of the above

forgsht =R 1 Jam TEefRa 8

(A) 3TTa <6t feurfa (B) Fafa & feufa

(C) faesft = =1 TUrR (D) YA Eqe

The payment of foreign trade is related with

(A) The merits of Import (B) The merits of Export
(C) The multiplier of Foreign Trade (D) Balance of Payment

-20- 43



91.

92.

93.

94.

95.

WA o STTEEET &5ehl T shiH HRAHTAT IR 9 grafRd @ ?

(A) SCUTE &Th (B) HEH FTETHT

(C) T (D) TR 857k

Which of the following infrastructure sectors of India is related with Bharatmala Project ?
(A) Port Sectors (B) Road Infrastructure

(C) Railways (D) Telecom Sector

T I TR §

(A) T Afgen At @ (B) wTHiUT g SHI i cE@ d
(C) TmHiur sifshm @ (D) TTHioT @ e |
Swabhiman Scheme is associated with

(A) Rural Women Rights (B) Rural Old People Care

(C) Rural Banking (D) Rural Food Security

Tiferan 3 fopm Teen & w1y fireteRt Jeash Usifead o Ichtedl g hl TATUAT IE Hl 7 ?

(A) 3T8.318. 8. 9513 (B) 3TTE.37Ts.TH. . &TcL®

(C) 318,318, &) . ovarg (D) 38,31, & feeet

Nokia has partnered with which institution to set up its centre of excellence in Networked Robotics ?
(A) IIT Madras (B) 11ISC Bengaluru

(C) IIT Bombay (D) IIT Delhi

feue e = foerg foraes g fomam mam 2

(A) HTITA (B) TheR (C) Shie (D) S=F STt
Binomial distribution was developed by

(A) Marshall (B) Fisher (C) Jacob (D) James Bernoulli
Tt fageta =1 fr wehR & ST ST 2

(A) Trewa freei fafy (B) faen fagsi fafy

(C) =k fee fafer (D) TYg a1 Gurear fieei fafy

Judgmental sampling is also known as

(A) Purposive sampling (B) Convenience sampling

(C) Extensive sampling (D) Cluster sampling
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96.

97.

98.

99.

100.

T Goi-TaL ol arel i foawer & g FefaRad § @ f6 A1aes <l TT9MT 31 ST Hhdl 8§ 7

(A) AT GRUEE

(C) 98T (D) 3w | o IS Tl

From a frequency distribution with open-end classes, which one of the following measure can be calculated ?
(A) Mean (B) Median

(C) Mode (D) None of the above

T IhEIAT TeIu TS LT &

Time reversal test is satisfied when

(A) Pgy xPyg=1 (B) PgyxPyp=0 (C) PyyxPyp>1 (D) PyyxPyp<1
FEAH I TTUAT I AHCTH T 8

(A) ST = 2 HIfeaehl — 3 HIEA (B) SEAh = 2 HIfeqehl + 3 HIEA

(C) &% = 3 WL — 2 WL (D) & = 3 WA — 2 HIEHI

The alternative formula for calculating Mode is

(A) Mode =2 Median — 3 Mean (B) Mode =2 Median + 3 Mean

(C) Mode = 3 Median — 2 Mean (D) Mode = 3 Mean — 2 Median

ql MR A QAT B A foaed T auH 8, Weg A Juft o1 JHT=al TTed B 31fYes 7 | 31 Avft A
1 ferawor TurisR 2oft B

(A) T AT B8 (B) @ THM B

(C) § & &M (D) 3T | & FIE T

The standard deviation of two series A and B is same, but the arithmetic mean of A series is greater
than B. Thus the co-efficient of variation of A series to B series will be

(A) Greater (B) Equal
(C) Less (D) None of the above

raferter o frefafaa amal o &, fraehi 3o & 2t 7 ¢

(A) T T &t (B) Y19 fermrer

(C) feream it (D) foramor-Tomes <t
Which of the following measures of dispersion does not have a unit ?

(A) Mean deviation (B) Standard deviation
(C) Range (D) Coefficient of variation
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